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Answers:

Q1. (a) 2 only

Q2. (c) 1 and 3 only

Q3. (b) Horses

Q4. (c) Parishishtparvan

Q5. (¢) Changes in price level of agri-output

Q6. (¢) Multiple Indian states

Q7. (b) X,Y,and Zfor A; Xand Y for B; Y for C

Q8. (c) Interest payments

Q9. (b) Surplus revenue in the treasury after meeting administrative expenses
Q10. (c) All three

Q11. (c) Both 1 and 2

Q12. (d) Ukraine

Q13. (b) Facilitating the coverage of farmers and their lands through digital platforms
Q14. (d) National Emission Trading Scheme

Q15. (b) SardarAjit Singh: Bharat Mata Society

Q16.(c) All three
Q17.(a) only 1

Q18. (a) Blockchain

Q19. (c) Gotra signifies a lineage or clan descending from a common male ancestor
Q20. (a) 1 only

Q21.(d)2,3 and 4

Q22.(d) Statement-I is incorrect, but Statement- Il is correct
Q23. (a) Cybercrime

Q24. (d) I, I1, and 11T
Q25. (b) Failure to connect with grassroots cultural traditions

Q26. (c) Interlinking domestic instant payment systems to enable faster, cheaper, and more

accessible cross-border payments



Q27. (a) Bhulabhai Desai
Q28. (b) Only four

Q29. (a) Vikram Sarabhai Space Centre, Thiruvananthapuram
Q30. (a) Cortisol

Q31. (c) Only three

Q32. (b) 3 months

Q33. (d) All four

Q34. (a) 1 and 2 only
Q35. (c) Only five

Q36. (a) Anamudi

Q37. (a) Nathu La

Q38.(a) Only one
Q39. (a) I and II only

Q40. (b) 1, 3 and 4 only
Q41. (a) Both Statement I and Statement II are correct and Statement II explains Statement I
Q42. (a) 1 only

Q43.(c) Both Statements 1 and 2 are correct

Q44. (d) All of the above
Q45. (d) All of the above

Q46.(a) 1 and 2 only

Q47.(b) 1, 2 and 3 only

Q48.(d) 1,2 and 3

Q49. (d) WWF

Q50. (c) Achieving a net-zero carbon dioxide emission

Q51. (a) The central bank cannot work independently of the Government

Q52. (b) We must place food-based nutrition at the centre of our policy debate



Q53.(b). 7.5 degrees

Q54.(c).7 kmnorth
Q55. (b) 20

Q56. (a) 2160
Q57. (a) 215

QS58. (c) While Al can greatly benefit society, its ethical and social implications require

careful regulation

Q59. (c) Agricultural sustainability requires a multi-pronged approach including education,

innovation, and ecological planning

Q060. (2) 1, 2 and 4 only

Qo61. (c) Religious denominations tend to ignore the unity of man

Q62. (c)E

Q63. (d) E

Q64. (a) Aand E

Q65. (b) E

Q66. (d) F

Q67. (b) 1:1

Q68. (b) Any form of government tends to deteriorate by excess of its basic principle
Q69. (c) To ensure self-determination, social recognition, and equal opportunities for women
Q70. (b) Strategic interests often override calls for peace and diplomacy

Q71. (d) all follow

Q72. (b) Only conclusion II and III follows

Q73. (c) 1600

Q74. (b) Causing loss of innocent lives and disrupting societies

Q75. (a) 1, 2 and 3 only

Q76. (b) Tackling terrorism requires a comprehensive, global, and human rights—based

approach

Q77. (a) 3 days



Q78. (d) A =38 years, B =16 years

Q79. (d) 96

Q80. (a) Stream speed = 4 km/h, Boat speed = 20 km/h
Q81. (b) 11/15

Q82. (2) 1, 2 and 4 only

Q83.(a)B

Q84. (b) Both Conclusion-I and Conclusion-III
Q85. (a) aa

Q86. (b) 2

Q87. (a) 100 metres

Q88. (a) 29.16 liters

Q89.b)P,G, T,R

Q90. (b) The Question can be answered by using either Statement alone.



